EARAROBEEIERT — 2 N— IBISH —F

201553A 158 (B) 2ELI6H

SOl T R3® KB [EE] B

‘ [R1&] & ‘ [RERBE] — | & (£) 12000 B

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
By o7 KRBy T 3 %%E% 1:(1_2).8 4-4 37.9] 8.7 | 2 ;1_880) i&igqﬁﬁ)
¥ ovH/xex Biva¥LT KA
o9 FsEX :13. = . . LREE (E#
Sy haNY 4 3 o (11 133/41) 3-3 38.3| 86.0 | 1 (:?(2)) EL?A%
L:ZARN—3I>Fh—L B:T7xty b BERS
“ 3 | SEEAH 1:13.5 6-7 38.3| 82.6 | 4 494 | BEHEL (ER)
O—vino4syy [B] * 5.0 @ 1/2) o | W B-LL-vry
Z:a-Lirrf4n Bivs—7 EE
R : - HEZE (E#)
I (=) 3 R (12.113/.29) 4-5 39.0] 79.2 | 6 51_7:) Cl
LI ATA—H— B4 X414% INHISH T 7 — L
. R RERA 4. - . . AMRILTE (ER
AHANEF X 3 | BEREE oy R e R e IR Y vt o
R:F4—TAHhA BN/ JFF)— BEWS
= =0 BB 14, - . . HER (EF
IZ2-1)zA1 [B] # 3 | EER e 10-10 |38.2| 78.4 | 14 (4_7:) it
R:A—JIAh7x B:aU>F F& R4
5 o p # 3 | HIDHAE 1:14.1 7-7 38.7| 77.4 | 3 468 | BB (EH)
70713 ¥1E-TN -0 (1/2) (-8) |KESUF
R:T77RAVIT7 B3I hova> G
$ 4 3 | FEIE 1:14.3 13-13 [ 37.7| 76.1 | 8 460 | REB (EH)
8 1 JRK=X 56.0 (1 1/4) (=) EHEER
RRFAT—INE BV TATTFAR FHRE%S
FZ ) 4 3 | ABEFOIR 1:14.7 9-9 39.1]72.4| 9 448 | AEFEIE (EH)
9(5[10 AtEXEY v 54.0 (2 1/2) +2) %%EJ@
R:wYUETyA BiO€y g g
i = 4 3 | EERMAETT 1:14.8 1-1 40.2| 731 | 7 520 | EREI ()
10/1]2|7zMbTYU=F> [B] 56.0 (1/2) © | ) €5 Ty—g-x.1=3
R:Y=Z28—3I=X4— B:U-—FhroE—2 it s
# 3 | BEAES 1:14.9 10-11 39.1| 70.7 | 11 400 | RMERSB (EH)
111 7I7LARA 54.0 (1/2) () | EHIH—8B
R:77NT55 B:H s/ TEN A& FEM
S . 4 3 | AiElE 1:15.1 2-2 40.4] 708 | 5 486 | AEIRER ()
EE 4| BT¥avET R — 56.0 A 1/4) -10) (B) 71 NEE
R:ZA8F2—FTUNT 1 BE—U1LF (Il miE7;
o g3 s 3 | FEHE 1:15.2 10-11 39.4| 68.4 | 16 | 464 |/MRILE (Ki#)
1318115 X vy Ta 54.0 (1/2) (-15) BEEE
L:hxexy B:O-Xxv>Tq HABS
— OS5 i 3 | AlFBIEA 1:15.4 13-13 | 38.8| 66.5 | 13 | 412 |/hBEZ (F#)
1418116 —hR>EAQZTY — A51.0 (1 1/2) (-14) INABEABR
L:F15>48) B:ZkrEQ7I-H &= %
YT 4 3 | BBEA 1:16.0 16-16 | 38.2| 61.4 | 12 | 456 |m=t&zid (%)
15/5|9 | ¥%/ F v /N 54.0 3 1/2) o | FHEL
LA T7AT7 B:v71—= B EHU5
7 = 4 3 | HE—H 1:16.6 15-15 [ 39.7| 57.3 | 15 | 516 |KILEE (i)
1o 8|7 1—FAF1 L 54.0 (3 1/2) wo) | (B FoA
R:T7oBAT49 9748 B:HIAFT—FR TRIUESR S
@ 71 L
) 49.7-38.2
NA>Z4 L | 12.2-10.9-11.5-12.5-12.8-12.9
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= (x2,4)5(6,7)-12(14,13)10(1,3,15)=(16,11)8=9
40—F— (¥2,4)5,6(14,7) (12,13)10,3(1,15) (16,11)=8-9
[ N3
BB 6 390H 714K 5-6 190H e E 3-3 370 JEHE 5-6-12 1,000
8 B 6 130M4 6-12 600 B = 5-6 360M B 6-5-12 4,770
5 110 5-12 450 B H 6-5 760M
12 210H

ABICOVWTRDTEEERROODE. TR LIV,




